218422, 7:48 AM Varsity Learning Assessment

Algebra 2 Test 2022 Prechice Test
T _Name: John Sidanycz
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#1 Points possible: 2. Total attempts: 1

Find the following radicals.

b - v /= a9

¢ - v —+8I b. Not a real number
b -v —/Z81 c.—9

o - v Vel

#2 Points possible: 1. Total attempts: 1

Find the following root. If the root does not exist as a real number, write "DNE",

_ YT = -

#3 Points possible: 1. Total attempts: 1
Find the following root.

Y= =3

#4 Points possible: 2. Total attempts: 1

Assume all variables are positive, and find the following root:
i
va*hs = ob

#5 Points possible: 3. Total attempts: 1

Assume all variables are positive, and find the following root: : .
A R
V=645 = ~Hab

#6 Points possible: 1. Total attempts: 1

Convert the following radical to an expression with rational exponents and simplify if possible. Assume
all variables are positive numbers.

o = \35'18
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#7 Points possible: 1. Total attempts: 1
the appropriate root. Then

Use the definition of rational exponents to write each of the following with

simplify:

LR

#8 Points possible: 1. Total attempts: 1
Use the definition of rational exponents to write each of the following with the appropriate root. Then

simplify:

1 3 -
(—125)° = JTJ_; s

#9 Points possible: 1. Total attempts: 1
Use the definition of rational exponents to write each of the following with the appropriate root. Then

simplify:
1 TETT 5
2 1> = &
(F) -5 2

#10 Points possible: 1. Total attempts: 1
Use the definition of rational exponents to write each of the following with the appropriate root. Then

simplify:
625\ 7 {[@émm s 2
(W) = LG 3

#11 Points possible: 2. Total attempts: 1
Use the definition of rational exponents to write each of the following with the appropriate root. Then

simplify:

64° — (i/(,?)q = 45056

#12 Points possible: 2. Totat attempts: 1
Simplify the expression. Remember, negative exponents give reciprocals.

wles

625 ' = VJLS

. R
(29" = (‘rjg,;_.;) - (5Y=125
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#13 Points possible: 2. Total attempts: 1

Simplify the expression. Remember, negative exponents give reciprocals.

L 1/ - e 3 My
64 T 5 - : LICI ﬁ
(87— e (19N

#14 Points possible: 2. Total attempts: 1

Simplify the expression. Remember, negative exponents give reciprocals,
2 - . AT R 5
LARN T | 27\ " .
27 N :

#15 Points possible: 2. Total attempts: 1
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Use the properties of exponents to simplify the following as much as possible. Assume all bases are
positive,

5001 o /
' x = X =X

#16 Points possible: 2. Total attempts: 1

Use the properties of exponents to simplify the following as much as possible. Assume all bases are
positive.

% -l YL

X e X U \/Xlls

#17 Points possible: 3. Total attempts: 1

Use the properties of exponents to simplify the following as much as possible, Assume all bases are
positive,

22 o2\ Vo V3o Chg L IUENET
(msyﬁza) = X LA > =z X z

AN

#18 Points possible: 2, Total attempts; 1

Use the product property for radicals to simplify the following radical expressions as much as possible.
Assume all variables represent positive numbers. Use sqri(x) for 1/z and root(x)(y) for /7.

Vit adx=3/o
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#19 Points possible: 2. Total attempts: 1

Use the product property for radicals to simplify the tollowmg radical expressmns as much as possible.
Assume all variables represent positive numbers. St R iy

V= Jlan {5 =135

#20 Points possible: 2, Total attempts: 1

Use the product property for radicals to simplify the fo]lowmg radlcal expressmns as much as possible.
Assume all variables represent positive numbers. 2R DEARGS

= Xen YT = YE)

#21 Points possible: 2. Total attempts: 1

Use the product property for radicals to simplify the following radical expressions as much as possible.

Assume all variables represent positive numbers, Usesqetzforoleantroot(H(0)-£0r-g/F.
yi6z = g1 VA =(9)U' 2

#22 Points possible: 3. Total attempts: 1

Use the product property for radicals to simplify the following radical expressions as much as possible.

Assume all variables represent positive numbers. Use-squtrfory/ms.andsootGlafor 447,
Voo = NGB x = Axl5x

#23 Points possible: 3. Total attempts: 1

Use the product property for radicals to simplify the following radlcal expressmns as much as possible.
Asgsume all variables represent p031t1ve numbers Hoe-sgut(x)-farola-andseety(y)-foro4

/2504767 Wf a Vaa bt - (5 ZI’X’ et

#24 Points pOSSIble: 2, Total attempts: 1

Use the product property for radicals to simplify the following radical expressions as much as possible.

Assume all variables represent positive numbers Nsqu()g)ﬁwg-ﬂ clQ 61’%
Vooatnid = e J6 J /_.._ b/¢* @abc J

bt eyt

#25 Points possible: 2. Total attempts: 1

Use the product property for radicals to simplify the following radical expressions as much as posmble

Assume all variables represent positive numbers, M&m%m»e@@m@ - S
JiwdwE = I S5 Ja? \,/__/_éo' : /}‘ ( Qﬁb(ﬁ,)\?r 2l

s
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 #26 Points possible: 3. Total attempts: 1

Use the product property for radicals to simplify the following radical expressmns as much as possible.
Assume all variables represent positive numbers. Nmeqrtéxg_ S

#27 Points possible: 2, Total attempts: 1

Simplify the expression. Do not assume the variables represent positive numbers.

o= 8 W
-

#28 Points possible: 3. Total attempts: 1

Simplify the expression, Do not assume the variables represent positive numbers,

V125282 = N Q5 Eﬂrbr;@z = 5)(& \/—5-7

#29 Points possible: 3. Total attempts: 1

Assume all variables are positive, and find the following root:

\VWZ ’(9@3!33

#30 Points possible: 2. Total attempts: 1

Use the propetties of exponents to simplify the following as much as possible. Assume all bases are

1k a7

positive. - ) 3 3
o o TR & & 30 30 3p
. y% “5/5% 5 -5 Y30 30 ;j 3 /30 \\, 8.4 . aF 24 o
g m— A B S A A T
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Use the product property for radicals to simplify the following radical expressions as much as possible.
Assume all variables represent p0s1t1ve numbers Usersquifx)Ffarplaand reotEeirnorydy.

48z \ﬁ: m f— {5 ?)( [3’;3

tfes

len
2 I

#31 Points possible: 2. Total attempts: 1
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